Why did William win the Battle of Hastings?
TASK: Copy and complete this essay, using what you have learned about the Battle of Hastings
Introduction

The Battle of Hastings occurred in the year __________ . The battle was fought by _______ and _______ . The battle was eventually won by ________ . The two men were fighting over _________ . 

There are four types of reasons why William won the Battle of Hastings. These are William’s skill, Harold’s mistakes, luck and the nature of the two armies. 

1. William’s skill

William was a very good soldier and this helped him win the battle because he knew what to do. The best example of William’s skill as a soldier was when he ______ . 

2. Harold’s mistakes

Harold made many mistakes both before and during the battle. These mistakes helped William win. I think the biggest mistake Harold made was when ______ .

This was a mistake because ________ . 

3. Luck 

Although William was skilful and Harold made mistakes, luck was also important in helping William win the battle. The best example of luck helping William was when _______ . This helped him win the battle because _______ .

4. The nature of the two armies

It is possible to argue that William was more likely to win the battle than Harold because his army was better than Harold’s. William’s army was better because __________ . This meant that _________ .

Conclusion

I think the most important type of reason why William won the battle of Hastings was _____________________ . I think this because ____________________________ . 
